

Acta Universitatis Palackianae Olomucensis. Facultas Rerum
Naturalium. Mathematica

Małgorzata Migda; Ewa Schmeidel

Some properties of solutions of a class of nonlinear difference equations

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 38 (1999), No. 1, 131--137

Persistent URL: <http://dml.cz/dmlcz/120393>

Terms of use:

© Palacký University Olomouc, Faculty of Science, 1999

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>



Some Properties of Solutions of a Class of Nonlinear Difference Equations

MALGORZATA MIGDA¹, EWA SCHMEIDEL²

¹*Institute of Mathematics, Poznań University of Technology,
Piotrowo 3A, 60-965 Poznań, Poland
e-mail: mmigda@math.put.poznan.pl*

²*Institute of Mathematics, Poznań University of Technology,
Piotrowo 3A, 60-965 Poznań, Poland
e-mail: eschmeid@math.put.poznan.pl*

(Received January 7, 1999)

Abstract

The existence of nonoscillatory bounded solutions of the second order nonlinear difference equation

$$\Delta(r(n)\Delta y(n)) + f(n, y(n), \Delta y(n)) = 0$$

is investigated.

Key words: Difference equation.

1991 Mathematics Subject Classification: 39A10

In this paper we investigate some properties of solutions of the nonlinear difference equation

$$(E) \quad \Delta(r(n)\Delta y(n)) + f(n, y(n), \Delta y(n)) = 0,$$

where $r : N_0 \rightarrow R_+$, $f : N_0 \times R^2 \rightarrow R$. Here $N_0 := \{n_0, n_0 + 1, \dots\}$, n_0 is a given nonnegative integer, R_+ denotes the set of positive reals. For a function $y : N_0 \rightarrow R$ the difference operator Δ is defined by

$$\Delta y(n) = y(n+1) - y(n), \quad \Delta^2 y(n) = \Delta(\Delta y(n)).$$

Throughout this paper we assume that the function $f(n, u, v)$ is continuous in the region $D : n \in N_0, u_0 \leq u \leq u_1, 0 \leq v \leq v_1$ for each fixed n , and we denote

$$\alpha(n) = \sum_{k=n_0}^{n-1} \frac{1}{r(k)}.$$

By a solution of Eq. (E) we mean a real sequence defined for $n \geq n_1$ (for some $n_1 \in N_0$), which satisfies Eq. (E).

A nontrivial solution y of Eq. (E) is called oscillatory if for any $k \in N_0$ there exists $n \geq k$ such that $y(n)y(n+1) \leq 0$. Otherwise it is called nonoscillatory.

In Th. 1 we consider assumptions under which a nonoscillatory bounded solution of Eq. (E) exists. In Th. 2 we give conditions under which Eq. (E) has a solution lying between solutions of other given equations. Similar problems for differential equations have been investigated by S. Belohorec [1]. Some asymptotic properties of the difference equation

$$\Delta(r(n)\Delta x(n)) + f(n, x(n), \Delta x(n)) = h(n)$$

were given by A. Drozdowicz [2].

Theorem 1 *Let the function f be nonnegative and nondecreasing with respect to the last two arguments on the region D . If for some constants c_0 and c_1 ($u_0 < c_0 \leq u_1, 0 < c_1 \leq v_1$)*

$$\sum_{i=n_0}^{\infty} \alpha(i+1) f\left(i, c_0, \frac{c_1}{r(i)}\right) < \infty$$

then for every $m, u_0 \leq m < c_0$ there exists $n_1(m) \in N_0$ such that for all $n_2 \geq n_1, n_2 \in N_0$, there exists a solution y of Eq. (E) defined for $n \geq n_1$, such that $y(n_2) = m$ and y increases to a constant $c \leq c_0$.

Conversely, if Eq. (E) has such a solution, then for arbitrary numbers c_2, c_3 such that $u_0 \leq c_2 < c, 0 \leq c_3 \leq \lim_{n \rightarrow \infty} r(n)\Delta y(n)$ we have

$$\sum_{i=n_0}^{\infty} \alpha(i+1) f\left(i, c_2, \frac{c_3}{r(i)}\right) < \infty.$$

Proof I. Let c_0 and c_1 be such constants and let m be an arbitrary number satisfying $u_0 \leq m < c_0$. Then there exists $n_1(m) \geq n_0$ such that for every $n_2 \geq n_1, n_2 \in N_0$, we have

$$(1) \quad \sum_{i=n_2}^{\infty} \alpha(i+1) f\left(i, c_0, \frac{c_1}{r(i)}\right) \leq c_0 - m,$$

$$\sum_{i=n_2}^{\infty} f\left(i, c_0, \frac{c_1}{r(i)}\right) \leq c_1.$$

Consider the equation

$$(2) \quad y(n) = m + \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2)) f(i, y(i), \Delta y(i)) \\ + (\alpha(n) - \alpha(n_2)) \sum_{i=n}^{\infty} f(i, y(i), \Delta y(i)).$$

We prove that Eq. (2) has a solution y passing through the point (n_2, m) and increasing to some constant $c \leq c_0$. This solution is also a solution of Eq. (E), because

$$\begin{aligned} \Delta y(n) &= m + \sum_{i=n_2}^n (\alpha(i+1) - \alpha(n_2)) f(i, y(i), \Delta y(i)) \\ &\quad + (\alpha(n+1) - \alpha(n_2)) \sum_{i=n+1}^{\infty} f(i, y(i), \Delta y(i)) \\ &\quad - m - \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2)) f(i, y(i), \Delta y(i)) \\ &\quad - (\alpha(n) - \alpha(n_2)) \sum_{i=n}^{\infty} f(i, y(i), \Delta y(i)) \\ &= (\alpha(n+1) - \alpha(n_2)) f(n, y(n), \Delta y(n)) \\ &\quad + (\alpha(n) + \frac{1}{r(n)} - \alpha(n_2)) \sum_{i=n+1}^{\infty} f(i, y(i), \Delta y(i)) \\ &\quad - (\alpha(n) - \alpha(n_2)) (f(n, y(n), \Delta y(n)) + \sum_{i=n+1}^{\infty} f(i, y(i), \Delta y(i))) \\ &= (\alpha(n+1) - \alpha(n_2)) f(n, y(n), \Delta y(n)) \\ &\quad + \frac{1}{r(n)} \sum_{i=n+1}^{\infty} f(i, y(i), \Delta y(i)) - (\alpha(n) - \alpha(n_2)) f(n, y(n), \Delta y(n)) \\ &= \frac{1}{r(n)} f(n, y(n), \Delta y(n)) + \frac{1}{r(n)} \sum_{i=n+1}^{\infty} f(i, y(i), \Delta y(i)) \\ &= \frac{1}{r(n)} \sum_{i=n}^{\infty} f(i, y(i), \Delta y(i)). \end{aligned}$$

Therefore

$$(3) \quad r(n) \Delta y(n) = \sum_{i=n}^{\infty} f(i, y(i), \Delta y(i))$$

and

$$\begin{aligned} \Delta(r(n)\Delta y(n)) &= \\ &= \sum_{i=n+1}^{\infty} f(i, y(i), \Delta y(i)) - \sum_{i=n}^{\infty} f(i, y(i), \Delta y(i)) = -f(n, y(n), \Delta y(n)). \end{aligned}$$

The existence of a solution of Eq. (2) will be prove by the method of successive approximations. If we put $y_1(n) = m$ and

$$(4) \quad \begin{aligned} y_{k+1}(n) &= m + \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2))f(i, y_k(i), \Delta y_k(i)) \\ &\quad + (\alpha(n) - \alpha(n_2)) \sum_{i=n}^{\infty} f(i, y_k(i), \Delta y_k(i)) \end{aligned}$$

for $k = 1, 2, \dots$, then for $n \geq n_2$ and for every k the following inequalities hold

$$(5) \quad m \leq y_k(n) \leq c_0, \quad 0 \leq \Delta y_k(n) \leq \frac{c_1}{r(n)},$$

which can be proved by induction in next way. For example we prove that $m \leq y_k(n) \leq c_0$. We can see that

$$\alpha(i) - \alpha(j) = \sum_{k=n_1}^{i-1} \frac{1}{r(k)} - \sum_{k=n_1}^{j-1} \frac{1}{r(k)} \geq 0 \quad \text{for } i \geq j.$$

Therefore, by this and (4)

$$y_{k+1}(n) \geq m.$$

Moreover, by (5) and (4)

$$\begin{aligned} y_{k+1}(n) &\leq m + \sum_{i=n_2}^{n-1} \alpha(i+1)f(i, y_k(i), \Delta y_k(i)) + \alpha(n) \sum_{i=n}^{\infty} f(i, y_k(i), \Delta y_k(i)) \\ &\leq m + \sum_{i=n_2}^{n-1} \alpha(i+1)f\left(i, c_0, \frac{c_1}{r(i)}\right) + \sum_{i=n}^{\infty} \alpha(i+1)f\left(i, c_0, \frac{c_1}{r(i)}\right) \\ &= m + \sum_{i=n_2}^{\infty} \alpha(i+1)f\left(i, c_0, \frac{c_1}{r(i)}\right) \leq m + c_0 - m = c_0. \end{aligned}$$

Similarly, it may be proved by induction that for every $n \geq n_2$ the sequences $\{y_k(n)\}$, $\{\Delta y_k(n)\}$ are nondecreasing. Thus there exists $y(n)$ such that for every $n \geq n_2$ we have

$$\lim_{k \rightarrow \infty} y_k(n) = y(n), \quad \lim_{k \rightarrow \infty} \Delta y_k(n) = \Delta y(n).$$

Therefore, using the Levi's Theorem [3, 4] we get by (4) that y is a solution of Eq. (E) for $n \geq n_2$ and this solution has the required properties.

Nontrivial modification is that we used Levi's Theorem for sequences, which are also measurable functions. Then in the thesis of Levi's Theorem the symbol \int reduces to \sum .

II. Let y be a solution of Eq. (E) considered in the first part. Then there exists a number $n_2 \geq n_0$, $n_2 \in N_0$ such that for $n \geq n_2$ we have

$$c_2 \leq y(n) \leq c \quad \text{and} \quad 0 \leq \lim_{n \rightarrow \infty} r(n)\Delta y(n) \leq r(n)\Delta y(n).$$

Now, from Eq. (2) and the last inequalities we get

$$\begin{aligned} c \geq y(n) &\geq m + \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2))f(i, y(i), \Delta y(i)) \\ &\geq \sum_{i=n_2}^{n-1} \alpha(i+1)f\left(i, c_2, \frac{c_3}{r(i)}\right) - \alpha(n_2) \sum_{i=n_2}^{n-1} f(i, y(i), \Delta y(i)) \end{aligned}$$

for all $n \geq n_2$. From this, by (3)

$$\sum_{i=n_0}^{\infty} \alpha(i+1)f\left(i, c_2, \frac{c_3}{r(i)}\right) < \infty$$

which proves the theorem. □

Remark 1 A similar property—asymptotically constant solutions—for the difference equation

$$\Delta(r_{n-1}\Delta u_{n-1}) + f(n, u_n) = 0$$

can be found in [6], (Th. 1).

In the following theorem we omit the assumption of monotonicity of the function f .

Theorem 2 Assume that $F_1(n, u, v)$ and $F_2(n, u, v)$ are continuous and non-decreasing (in u and v) functions, for every fixed $n \geq n_0$. Moreover, let

$$(6) \quad 0 \leq F_1(n, u, v) \leq f(n, u, v) \leq F_2(n, u, v)$$

for every point of D .

Denote

$$(E1) \quad \Delta(r(n)\Delta w(n)) + F_1(n, w(n), \Delta w(n)) = 0,$$

$$(E2) \quad \Delta(r(n)\Delta z(n)) + F_2(n, z(n), \Delta z(n)) = 0,$$

If there exist constants $c_0, c_1, (u_0 < c_0 \leq u_1, 0 < c_1 \leq v_1)$ such that

$$(7) \quad \sum_{i=n_0}^{\infty} \alpha(i+1)F_2\left(i, c_0, \frac{c_1}{r(i)}\right) < \infty$$

then for every $m, u_0 \leq m < c_0$, there exists $n_1(m) \in N_0$ such that for all $n_2 \geq n_1, n_2 \in N_0$, a solution of Eq. (E) defined for $n \geq n_2$ passes through the (n_2, m) . By Th. 1 this solution lies between the solutions $w(n)$ and $z(n)$ of Eq. (E1) and Eq. (E2), passing through this point.

Conversely, if Eq. (E) has such a solution, then

$$\sum_{i=n_0}^{\infty} \alpha(i+1)F_1\left(i, c_2, \frac{c_3}{r(i)}\right) < \infty,$$

where c_2 and c_3 are such as in Th. 1.

Proof Let $w(n)$ and $z(n)$ be solutions of Eq. (E1) and Eq. (E2) such that $w(n_2) = m, z(n_2) = m$ whose existence is proved in Th. 1. We will prove that there exists solution y of Eq. (E) such that

$$(8) \quad w(n) \leq y(n) \leq z(n) \quad \text{for } n \geq n_2$$

and $y(n_2) = m$.

Let l_∞ be Banach space of bounded sequences with “sup” norm. Let $T = \{x \in l_\infty : w(n) \leq x(n) \leq z(n), \text{ for } n \geq n_2\}$. We define operator A in the following way

$$\begin{aligned} Ax(n) &= m + \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2))f(i, x(i), \Delta x(i)) \\ &+ (\alpha(n) - \alpha(n_2)) \sum_{i=n}^{\infty} f(i, x(i), \Delta x(i)). \end{aligned}$$

Set T and operator A have following properties:

1. Set T is nonempty, convex and compact subset of l_∞ . To prove that T is compact subset of l_∞ it is easy to construct a finite ε -net for the set T .
2. Assume that $x(n) \in T$. From definition of A , (6) and (8) we have

$$\begin{aligned} Ax(n) &\leq m + \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2))F_2(i, x(i), \Delta x(i)) \\ &+ (\alpha(n) - \alpha(n_2)) \sum_{i=n}^{\infty} F_2(i, x(i), \Delta x(i)) = z(n) \end{aligned}$$

and $Ax(n) \geq w(n)$ for $n \geq n_2$.

Therefore $Ax(n) \in T$ eg. operator A maps T into T .

3. Operator A is continuous on T .

Let $x_k, x \in T$, $\lim_{k \rightarrow \infty} x_k = x$. From (7), Lebegue Theorem [5] and continuity of f we have

$$\begin{aligned} \lim_{k \rightarrow \infty} Ax_k(n) &= \lim_{k \rightarrow \infty} \left(m + \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2)) \right. \\ &\quad \left. \times f(i, x_k(i), \Delta x_k(i)) + (\alpha(n) - \alpha(n_2)) \sum_{i=n}^{\infty} f(i, x_k(i), \Delta x_k(i)) \right) \\ &= m + \sum_{i=n_2}^{n-1} (\alpha(i+1) - \alpha(n_2)) f(i, x(i), \Delta x(i)) \\ &\quad + (\alpha(n) - \alpha(n_2)) \sum_{i=n}^{\infty} f(i, x(i), \Delta x(i)) = Ax(n). \end{aligned}$$

Then by Schauder's Theorem operator A has a fixed point on T . Let y be this point. Then $Ay(n) = y(n)$ i.e. Eq. (E) has a solution y such that $y(n_2) = m$ and $w(n) \leq y(n) \leq z(n)$ for $n \geq n_2$. This proves the first part of our theorem. The proof of the second part is similar to that of Th. 1. \square

The most essential modification in our proof is the use of Banach space instead of Frechet space dealt by Belohorec [1].

References

- [1] Belohorec, S.: *Monotone and oscillatory solutions of a class of nonlinear differential equations*. *Matematicky casopis* **3** (1969), 169–187.
- [2] Drozdowicz, A.: *On the asymptotic behavior of solutions of second order nonhomogeneous difference equations*. *Annali di Matematica pura ad applicata* **4**, CLV (1989), 75–84.
- [3] Halmos, P.: *Measure theory*. D. Van Nostrand Company, New York, 1950.
- [4] Kufner, A., John, O, Fucik, S.: *Function Spaces*. Czechoslovak Academy of Sciences, Prague, 1977.
- [5] Musielak, J.: *Wstęp do analizy funkcjonalnej*. Państwowe Wydawnictwo Naukowe, 1976, (in Polish).
- [6] Szmanda, B.: *Characterization of Oscillation of Second Order Nonlinear Difference Equations*. *Bull. Polish Acad. Sci. Math.* **34** (1986), 133–141.